	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437				Texas Paint 4410 Ross Ave Dallas, Texas 75204 (214) 824-4574 (214) 823-1951 fax Roger Solomon r.solomom@texaspaint.com	
ITEM NO.	Recommended for award DESCRIPTION:	Est.	Qty.	UNIT PRICE	Group 11 UNIT PRICE	
	Group 11: Paint Brushes – Disposal/Throw-Away					—
72	Size: <sup>1</sup> / <sub>2</sub> ", minimum thickness <sup>1</sup> / <sub>4</sub> ", length out 1-5/8" minimum Brand: Great American Marketing No. BB00010) Product No. 7667000010 or approved equal	12	each		\$0.	.24
	Specify Size Being Proposed: Size: Thickness:				1/2" 1/4" 1 1/2 Premier	
	Length Out: Manufacturer: Product Number:				655890	
73	Size:1", minimum thickness 5/16", length out 1-5/8" minimum Brand: Great American Markeing No. BB00011) Product No. 7667000011 or approved equal	12	each		\$0.	.27
	Specify Size Being Proposed: Thickness: Length Out:				1" 5/16" 1 1/2"	
	Manufacturer: Product Number:				Premier 655891	
74	Size:1-1/2", minimum thickness 5/16", length out 1-5/8" minimum Brand: Great American Marketing No. BB00012) Product No. 7667000012 or approved equal	12	each		\$0.	.33
	Specify Size Being Proposed: Thickness: Length Out: Manufacturer:				1 1/2" 5/16" 1 1/2" Premier	
	Product Number:				655892	
75	Size: 2", minimum thickness 5/16", length out 1-5/8" minimum Brand: Great American Marketing No. BB00013) Product No. 7667000013 or approved equal	24	each		\$0.	.44
	Specify Size Being Proposed: Thickness: Length Out:				2" 5/16" 1 1/2"	
	Manufacturer: Product Number: Page 1	of 43			Premier 655893	

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437 Recommended for award				Texas Paint 4410 Ross Ave Dallas, Texas 75204 (214) 824-4574 (214) 823-1951 fax Roger Solomon r.solomom@texaspaint.com
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	UNIT PRICE
76	Size: 2-1/2", minimum thickness 3/8", length out 1-7/8" minimum Brand: Great American Marketing No. BB00014) Product No. 7667000014 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:	24	each		\$0.56 2 1/2" 5/16" 1 1/2" Premier 655894
77	<ul> <li>Size: 3", minimum thickness 3/8", length out 1-7/8" minimum Brand: Great American Marketing No. BB00015) Product No. 7667000015 or approved equal</li> <li>Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number: Total - Group 11</li> <li>I/We do have the products in stock</li> <li>Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?</li> <li>Note: All purchases by Governmental Entities other than Dallas County will be billed directly to that Governmental Entity and paid by that Government Entity. Dallas County will not be responsible for other Governmental Entity's debt</li> <li>Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County</li> </ul>	48	each		\$0.75 3" 5/16" 1 1/2" Premier 655895 Yes Yes Roger Solomon, (214) 824-4574 ext.227, r.solomon@texaspaint.com

		1		1			
	SYNOPSIS						
	BID NO. 2015-006-6458				Texas Paint		
	Annual Contract for the Purchase of Paint and Related Products				4410 Ross Ave		
	Froducts				Dallas, Texas 75204		
	CONTRACT DEDIOD: 2 17 15 through 2 16 16				(214) 824-4574		
	CONTRACT PERIOD: 3-17-15 through 3-16-16						
	BUYER: Ruthie Simpkins (214) 653-7437				(214) 823-1951 fax		
					Roger Solomon		
					r.solomom@texaspaint.	<u>com</u>	
	Recommended for award				Group 11		
ITEM	DESCRIPTION:	Est.	Qty.	UNIT PRICE	UNIT PRICE	EXT	rended
NO.			-			PRI	
	Group 11: Paint Brushes – Disposal/Throw-Away						
72	Size: <sup>1</sup> / <sub>2</sub> ", minimum thickness <sup>1</sup> / <sub>4</sub> ",	12	each			\$0.24	\$2.
12	length out 1-5/8" minimum Brand: Great American	12	each			ψ0.24	$\psi 2.$
	Marketing No. BB00010) Product No. 7667000010 or						
	approved equal						
	Specify Size Being Proposed:				1/2"		
	Size:				1/4"		
	Thickness:				1/1/2		
	Length Out:				Premier		
	Manufacturer:				655890		
	Product Number:				035070		
73	Size:1", minimum thickness 5/16",	12	each			\$0.27	\$3.
	length out 1-5/8" minimum Brand: Great American		eaen			¢0 <b>.</b> _/	φ <b>υ</b> .
	Markeing No. BB00011) Product No. 7667000011 or						
	approved equal						
	Specify Size Being Proposed:				1"		
	Thickness:				5/16"		
	Length Out:				1 1/2"		
	Manufacturer:				Premier		
	Product Number:				655891		
74	Size:1-1/2", minimum thickness 5/16",	12	each			\$0.33	\$3.
	length out 1-5/8" minimum Brand: Great American						
	Marketing No. BB00012) Product No. 7667000012 or						
	approved equal						
	Specify Size Being Proposed:				1 1/2"		
	Thickness:				5/16"		
	Length Out:				1 1/2"		
	Manufacturer:				Premier		
	Product Number:				655892		
75	Size: 2", minimum thickness 5/16",	24	each			\$0.44	\$10.
	length out 1-5/8" minimum Brand: Great American						
	Marketing No. BB00013) Product No. 7667000013 or						
	approved equal						
	Specify Size Being Proposed:				2"		
	Thickness:				2 5/16"		
	Length Out:				1 1/2"		
1	•				Premier		
	Manufacturer:				Pleimei		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437 Recommended for award				Texas Paint 4410 Ross Ave Dallas, Texas 75204 (214) 824-4574 (214) 823-1951 fax Roger Solomon r.solomom@texaspaint.	com	
ITEM NO.		Est.	Qty.	UNIT PRICE	UNIT PRICE		TENDED ICE
76	Size: 2-1/2", minimum thickness 3/8", length out 1-7/8" minimum Brand: Great American Marketing No. BB00014) Product No. 7667000014 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:	24	each		2 1/2" 5/16" 1 1/2" Premier 655894	\$0.56	\$13.
77	Size: 3", minimum thickness 3/8", length out 1-7/8" minimum Brand: Great American Marketing No. BB00015) Product No. 7667000015 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:	48	each		3" 5/16" 1 1/2" Premier 655895	\$0.75	\$36.
	Total - Group 11 I/We do have the products in stock				Yes		\$70.
	<b>Cooperative Purchasing</b> : Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?				Yes		
	Note: All purchases by Governmental Entities other than Dallas County will be billed directly to that Governmental Entity and paid by that Government Entity. Dallas County will not be responsible for other Governmental Entity's debt						
	Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.				Roger Solomon, (214) 82 ext.227, r.solomon@texaspaint.co		

	SYNOPSIS					
	BID NO. 2015-006-6458			Kelly- Moore Paint	Company	
	Annual Contract for the Purchase of Paint and Related					
	Products			2755 Irving Blvd		
	CONTRACT PERIOD: 3-17-15 through 3-16-16			Dallas, Texas 75207 (214) 905-2044		
	BUYER: Ruthie Simpkins (214) 653-7437			(214) 905-2044 (214) 905-9487 Fax		
	DOTER. Rutine Simpkins (214) 055-7457			Rick Roof		
				rroof@kellymoore.con	ı	
					-	
	Recommended for award			Goup 5,7,9,12,25,27		
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	E	EXTENDED PRICE
	Group 5: Paint Thinner and Removers					
37	Mineral Spirits/Thinner Low Oder Size: 2-1/2 Gallon Container Brand: Klean Strip EKPT94401 or approved equal Product No. 3019294401	100 (40	gallons each)		\$18.39	\$735.60
	Manufacturer:			Crown		
	Product No:			KM 27860		
					<b>†2</b> ( 00	<b>**</b> • • • • • •
38	Lacquer Thinner Size: Five (5) Gallon Container Brand: Cumberland Products Inc. Product No. CP-5 or approved equal	50 (10	gallons each)		\$34.89	\$348.90
	Manufacturer			Crown		
	Product Number			1100-069		
39	Paint & Varnish Remover/Stripper Low VOC Size: One (1) Gallon Container Brand: Klean Strip GKK5 or equal Product No. 3019200525	12	gallons			\$0.00
	Manufacturer			NO BID		
	Product Number			110 222		
	Total - Group 5					\$1,084.50
	Group 7: Paint Brushes – Polyester/Nylon Filament (Angular)				\$1,084.50	
54	Size: 2", angular sash brush, Minimum thickness 9/16", length out 2-5/8" minimum, weight of filament 1.1 oz. minimum	6	each		\$4.40	\$26.40
	Specify Size Being Proposed:			2"		
	Thickness:			9/16"		
	Length Out:			2-5/8"		
	Manufacturer:			KM		
	Product Number:			45635		
55	Size: 2-1/2", angular sash brush,	6	each		\$5.85	\$35.10
	Minimum thickness 5/8", length out					
	2-7/8" minimum, weight of filament 1.6 oz. minimum					
	Specify Size Being Proposed:			2 1/2"		
	Thickness:			5/8"		
	Length Out:			2-7/8"		
	Manufacturer:			КМ		
	Product Number:			45359		
		Page 5	of 13			

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437 Recommended for award		2	Kelly- Moore Paint Co 2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044 (214) 905-9487 Fax Rick Roof rroof@kellymoore.com Goup 5,7,9,12,25,27		
NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		DED PRICE
<u> </u>						
56	<ul> <li>Size: 3", angular sash brush,</li> <li>Minimum thickness 11/16", length out</li> <li>3-1/8" minimum, weight of filament 2.2 oz.</li> <li>minimum(Brand: Great American Marketing PX02565)</li> <li>Product # 7667002565 or approved equal</li> </ul>	6	each		\$6.27	\$37.62
	Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:			3" 11/16" 3 3/8 KM 45367		
57	Size: 2-1/2", sash brush, Minimum thickness 5/8", length out 2-1/8" minimum, weight of filament 1.6 oz. minimum(Brand: Great American Marketing PX02564) Product # 7667002564 or approved equal	6	each	0		\$0.00
	Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:			NO BID		¢00.12
	Total - Group 7 Group 9: Paint Brushes – Pure China Bristle					\$99.12
60	Size: 1-1/2", angular sash trim, Minimum thickness 3/8", length out 2-3/8", weight of bristle .43 minimum(Brand: Great American Marketing PX 02632) Product No. 7667002632 or approved equal	6	each		\$1.72	\$10.32
	Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:			1 1/2" 3/8" 2 - 3/8" KM 45395		
61	Size: 2", angular sash trim, Minimum thickness 7/16", length out 2-5/8", minimum weight of bristle .875 oz minimum(Brand: Great American Marketing PX 02633) Product No. 7667002633 or approved equal	6	each		\$2.62	\$15.72

NO.     2"       Specify Size Being Proposed: Thickness: Length Ott: Manufacturer: Product Number:     2"       62     Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum Weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     6     each     \$3.14     \$ 2 1/2"       63     Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle. 94 oz minimum(Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     6     each     \$3.95     \$ 2"       63     Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle. 94 oz minimum(Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     6     each     \$3.95     \$ 2"       64     Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Marketing PX 02624)     6     each     \$2.02     \$	F		1				
Annual Contract for the Purchase of Paint and Related Products     2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044       CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437     2(214) 905-2044       Recommended for award     Goup 5.7,9,12,25,37       TEM DESCRIPTION: No.     Est.     Qty.       VINIT PRICE     EXTENDED PRI NO.       Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     2" 7/16"       Size: 2-1/2", angular sash trim, Minimum thickness 12", length out 2-3/4", minimum weight of bristle 1.16 oz minimumMignad Great American Marketing PX 02634) Product Number:     6     each       63     Size: 2", flash sash trim, Minimum thickness 916", length out 2-3/4", minimum weight of bristle 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     6     each     \$3.95     \$ 2.1/2"       63     Size: 2", flash sash trim, Minimum thickness 916", length out 2-3/4", minimum weight of bristle 94 oz minimum ( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     6     each     \$3.95     \$ 2.34"       64     Size: 2-1/2", flash sash trim, Minimum thickness 5%", length out 2.37%" minimum weight of bristle 1.32 oz minimumMigned: Great Merican Marketing PX 02624)     5     \$ 2.34"							
Products2755 Irving Btvd Dallas, Texas 75207 (214) 905-2044 (214) 905-204 (214) 905-2044 (214) 905-2044 (214) 905-204 (214) 905-2044 (214) 905-2044 (214) 905-2044 (214) 905-2044 (214) 905-204 (214) 905-2044 (214) 905-204 (214) 905-204 <b< td=""><td></td><td>BID NO. 2015-006-6458</td><td></td><td></td><td>Kelly- Moore Paint Cor</td><td>npany</td><td></td></b<>		BID NO. 2015-006-6458			Kelly- Moore Paint Cor	npany	
CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthic Simpkins (214) 653-7437Dallas, Texas 75207 (214) 905-2484 Rick Roof rrad ####moore.comRecommended for awardGaup 5.7,9,12,2527ITEM DESCRIPTION: NO.Est.Qry.UNIT PRICEEXTENDED PRI NO.Specify Size Being Proposed: Thickness: Length Out: Minimum thickness 1/2", length out 2-7/8", minimum weight of bristel .16 oz minimum Read Great American Marketing PX 02634) Product Number:6each\$3.14\$62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristel .16 oz minimum weight of bristel .16 oz minimum weight of bristel .16 oz minimum deread American Marketing PX 02634) Product Number:6each\$3.14\$63Size: 2-1/2", fash sash trim, Minimum weight of bristel16 oz minimum weight of bristel16 oz minimum deread American Marketing PX 02633) Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum weight of bristle16 oz minimum (Brand: Great American Marketing PX 02623) Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle .12 oz minimum(Brand: Great Merica Marketing PX 02624)6each\$2.02\$		Annual Contract for the Purchase of Paint and Related					
CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthic Simpkins (214) 653-7437       (214) 905-2044         Rick Roof       Rick Roof         Recommended for award       Goup 5.7,9,12,25,27         TIEM DESCRIPTION:       Est.       Grup.         NO.       Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:       7/16"         62       Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle: 1.16 oz minimum(Brand Great American Marketing PX 02634) Product Number:       6       each       \$3.14       \$ 2.1/2"         63       Size: 27, Tah sash trim, Minimum thickness 916", length out 2-3/4", minimum weight of bristle: 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002632 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:       6       each       \$3.95       \$ 916"         64       Size: 2-1/2", flash sash trim, Minimum mickness 5/8", length out 2-7/8" minimum weight of bristle: 94 oz minimum( Brand: Great American Marketing PX 02624)       6       each       \$3.95       \$ 916"         7/16"       Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-3/4", minimum weight of bristle: 94 oz minimum( Brand: Great American Marketing PX 02624)       6       each       \$3.92       \$ 916"		Products			2755 Irving Blvd		
BUYER: Ruthie Simpkins (214) 653-7437     (214) 905-9487 Fax Rick Roof       Recommended for award     Goup 57.9.12.25.27       TFEM     DESCRIPTION:     Est.     Qty.       NO.     Est.     Qty.       Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     2" 7/16"     7/16"       62     Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-78", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product Number:     6     each     \$3.14     \$ 45396       63     Size: 2", flash sash trim, Manufacturer: Product Number:     6     each     \$3.95     \$ 5       63     Size: 2", flash sash trim, Manufacturer: Product Number:     6     each     \$3.95     \$ 2"       64     Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-78" minimum weight of bristle 1.32 oz minimum(Brand: Great American Marketing PX 02624)     6     each     \$ 2.94"					Dallas, Texas 75207		
BUYER: Ruthie Simpkins (214) 653-7437     (214) 905-9487 Fax Rick Roof       Recommended for award     Goup 57.9.12.25.27       ITEM DESCRIPTION:     Est. Qty.       NO.     Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:     Qty.       62     Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product Number:     6     each       63     Size: 2", Taba sash trim, Manufacturer: Product Number:     6     each       63     Size: 2", Taba sash trim, Manufacturer: Product Number:     6     each       64     Size: 2-1/2", Ringth out 2-7/8" minimum weight of bristle -1.9 oz minimum thickness 5/8", length out 2-7/8" minimum weight of bristle -1.2 oz minimum thickness 5/8", length out 2-3/4" KM     2"       71     G     Size: 2-1/2", flash sash trim, Manufacturer: Product Number:     6     each       64     Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle -1.3 oz minimum weight of bristle -1.3 oz minimum weight of bristle -1.3 oz minimum weight of bristle -1.3 oz     6     each		CONTRACT PERIOD: 3-17-15 through 3-16-16			(214) 905-2044		
Recommended for award     Goup 5.79.12.25.27       ITEM DESCRIPTION:     Est.     Qty.     UNIT PRICE     EXTENDED PRI       NO.     2"     71/16"     45396     45396       Specify Size Being Proposed:     71/16"     KM     45396       Thickness:     Length Out:     45396     71/16"       Manufacturer:     Product Number:     6     each     \$3.14     \$       62     Size: 2-1/2", angular sash trim,     6     each     \$3.14     \$       9     Specify Size Being Proposed:     1/2"     1/2"     1/2"       1     Thickness:     1/2"     1/2"     1/2"       1     Coupt Size Being Proposed:     1/2"     1/2"     1/2"       1     Thickness:     1/2"     2.7%"     1/2"       1     Length Out:     45397     5     \$       63     Size: 2", Tishs sash trim,     6     each     \$3.95     \$       63     Size: 2", Tishs sash trim,     6     each     \$3.95     \$       64     Size: 2-1/2", flash sash trim,     6     each     \$2.02     \$       71     Size: 2-1/2", flash sash trim,     6     each     \$2.02     \$       71     Size: 2-1/2", flash sash trim,     6     each </th <th></th> <th>_</th> <th></th> <th></th> <th>(214) 905-9487 Fax</th> <th></th> <th></th>		_			(214) 905-9487 Fax		
Recommended for award         Goup 5.7.9.12.25.27           ITEM DESCRIPTION:         Est.         Qtv.         UNIT PRICE         EXTENDED PRI EXTENDED PRI NO.           Specify Size Being Proposed:         7.16"         KM         KM           Manufacturer:         7.16"         KM         KM           Manufacturer:         7.16"         KM         KM           Minimum thickness 1/2", length out         6         each         \$3.14         \$           2.78", minimum dept of bristle 1.16 oz         1.16 oz         1/2"		DOTER: Rutine Shiipkins (214) 035-7457					
Recommended for awardGoop 5.7.9.12.25.27ITEM DESCRIPTION: NO.Est.Ory.UNIT PRICEEXTENDED PRI EXTENDED PRISpecify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2" 7/16" KM7/16" KM62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum veight of bristle 1.16 oz minimum/Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: 1/2" Length Out: Manufacturer: Product Number:6cach\$3.14\$63Size: 2", flash sash trim, Minimum weight of bristle 9Z 02634) Product Number:6each\$3.95\$63Size: 2", flash sash trim, Minimum thickness Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5%", length out 2-7/8" minimum weight of bristle 1.2 oz minimum(Brand: Great American Marketing PX 02624)6each\$2.02\$							
ITEMDESCRIPTION:Est.Qty.UNIT PRICEEXTENDED PRINO.Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2" 7/16" KM7/16" KM62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum seight of bristule 1.16 oz minimum Brand Great American Marketing PX 02634) Product Number:6each\$3.14\$61Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum seight of bristule 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: 1/2" 2-7/8"21/2" 2-7/8" KM63Size: 2", flash sash trim, Minimum thickness 5/8", length out 2-3/4", minimum weight of bristule 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: 2-3/4" 2-3/4"2""64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristule 1.32 oz minimum Brand: Great Merican Marketing PX 02624)6each\$2.02\$					<u>rroof@kellymoore.com</u>		
NO.     2''       Specify Size Being Proposed:     2''       Thickness:     Length Out:       Manufacturer:     45396       Product Number:     6       62     Size: 2-1/2", angular sash trim,       Minimum thickness 1/2", length out     2-7/8", minimum veight of bristle 1.16 oz       2-7/8", minimum Weight of bristle 1.16 oz     6       minimum(Brand Great American Marketing PX 02634)     7/16"       Product No. 7667002634 or approved equal     2 1/2"       Specify Size Being Proposed:     1/2"       Thickness:     2 - 7/8"       Length Out:     45397       63     Size: 2", flash sash trim,       Minimum thickness 9/16", length out     2.3/4", minimum weight of bristle .94 oz minimum(       Brand: Great American Marketing PX 02623) Product No.     766 or each       7667002623 or approved equal     2''       Specify Size Being Proposed:     2''       Thickness:     2''       Length Out:     2''       Mainfacturer:     9'16"       Product Number:     2''       64     Size: 2-1/2", flash sash trim,       Minimum thickness 5/%", length out     2'''       2-7/8" minimum weight of bristle 1.32 oz       minimum Weight of bristle 1.32 oz       minimum Weight of Bristle 1.32 oz       minimum Weight of Bristle		Recommended for award			Goup 5,7,9,12,25,27		
Specify Size Being Proposed:     2"       Thickness:     Length Out:       Manufacturer:     45396       Product Number:     6       62     Size: 2-1/2", angular sash trim,       Minimum thickness 1/2", length out     2.7/8"       2.7/8", minimum weight of bristle 1.16 oz     1/2"       minimum(Brand Great American Marketing PX 02634)     2.1/2"       Product No. 7667002634 or approved equal     2.1/2"       Specify Size Being Proposed:     1/2"       Thickness:     1/2"       Length Out:     45397       63     Size: 2", flash sash trim,       Minimum thickness 9/16", length out     2.3/4", minimum weight of bristle .94 oz minimum(       Brand: Great American Marketing PX 02623) Product No.     6       7667002623 or approved equal     2       Specify Size Being Proposed:     2.1/2"       Thickness:     2.3/4", minimum weight of bristle .94 oz minimum(       Brand: Great American Marketing PX 02623) Product No.     6       7667002623 or approved equal     2'       Specify Size Being Proposed:     2'       Thickness:     2'       Length Out:     2'       Manufacturer:     2'       Product Number:     4       64     Size: 2'-1/2", flash sash trim,       Minimum thickness 5%", length out     2-7/8"<	ITEM	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE
Thickness:7/16"Length Out:Manufacturer:Product Number:4539662Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.14\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum() Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum() Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merica Marketing PX 02624)6each\$2.02\$	NO.						
Thickness: Length Out: Manufacturer: Product Number:7/16" KM62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.14\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", iniimum weight of bristle .94 oz minimum() Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum() Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/%, length out 2-7/%" minimum weight of bristle 1.32 oz minimum(Brand: Great Mericam Marketing PX 02624)6each\$2.02\$							
Length Out: Manufacturer: Product Number:KM62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.14\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: 2-3/4", minimum keiting PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8", length out 2-7/8", innymum weight of bristle 1.32 oz minimum(Brand: Great Marketing PX 02624)6each\$2.02\$		Specify Size Being Proposed:			2"		
Manufacturer: Product Number:4539662Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.14\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002633 or approved equal Specify Size Being Proposed: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$		Thickness:			7/16"		
Product Number:62Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.14\$63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle. 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002632 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum (Brand: Great American Marketing PX 02624)6each\$2.02\$		Length Out:			KM		
62       Size: 2-1/2", angular sash trim, Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:       6       each       \$3.14       \$         63       Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle. 94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:       6       each       \$3.95       \$         64       Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)       6       each       \$2.02       \$		Manufacturer:			45396		
Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Length Out: Manufacturer: Product Number:2 1/2" 2 - 7/8" KM63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$		Product Number:					
Minimum thickness 1/2", length out 2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Length Out: Manufacturer: Product Number:2 1/2" 2 - 7/8" KM63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$	62	Size: 2-1/2", angular sash trim.	6	each		\$3 14	\$18.84
2-7/8", minimum weight of bristle 1.16 oz minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2 1/2" 1/2" 2 - 7/8" KM63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$	<u> </u>		Ĭ			ψυ.1 Γ	φ10.01
minimum(Brand Great American Marketing PX 02634) Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2 1/2" 1/2" 2 - 7/8"63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
Product No. 7667002634 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2 1/2" 1/2" 2 - 7/8"63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
Thickness: Length Out: Manufacturer: Product Number:1/2" 2 - 7/8"63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
Thickness: Length Out: Manufacturer: Product Number:1/2" 2 - 7/8"63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$		Specify Size Being Proposed:			2 1/2"		
Length Out: Manufacturer: Product Number:2 - 7/8" KM63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$					1/2"		
Manufacturer: Product Number:KM63Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
Product Number:4539763Size: 2", flash sash trim, Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:6each\$3.95\$64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$		0					
Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2"64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
Minimum thickness 9/16", length out 2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2"64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$	63	Size: 2" flash sash trim	6	each		\$3.95	\$23.70
2-3/4", minimum weight of bristle .94 oz minimum( Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2" 9/16" 2 - 3/4"64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$	05		U	euen		φ5.75	φ25.70
Brand: Great American Marketing PX 02623) Product No. 7667002623 or approved equal Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2"64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02\$							
7667002623 or approved equalSpecify Size Being Proposed:Thickness:Length Out:Manufacturer:Product Number:64Size: 2-1/2", flash sash trim,Minimum thickness 5/8", length out2-7/8" minimum weight of bristle 1.32 ozminimum(Brand: Great Merican Marketing PX 02624)							
Specify Size Being Proposed: Thickness: Length Out: Manufacturer: Product Number:2"64Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02 \$		-					
Thickness:       9/16"         Length Out:       9/16"         Manufacturer:       You wanted the second term of the second term of term					21		
Length Out: Manufacturer: Product Number:2 - 3/4" KM 4244764Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)6each\$2.02 \$							
Manufacturer:       Product Number:       KM         64       Size: 2-1/2", flash sash trim,       6       each       \$2.02       \$         Minimum thickness 5/8", length out       2-7/8" minimum weight of bristle 1.32 oz       6       each       \$2.02       \$							
Product Number:     42447       64     Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)     6     each     \$2.02     \$		•					
64 Size: 2-1/2", flash sash trim, Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)							
Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)		Product Number:			42447		
Minimum thickness 5/8", length out 2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)	64	Size: 2-1/2", flash sash trim,	6	each		\$2.02	\$12.12
2-7/8" minimum weight of bristle 1.32 oz minimum(Brand: Great Merican Marketing PX 02624)			-				
minimum(Brand: Great Merican Marketing PX 02624)		-					
		÷					
Product No. 7667002624 or approved equal		Product No. 7667002624 or approved equal.					
					1 1/2!!		
Specify Size Being Proposed: 1 - 1/2"							
Thickness: 3/8"							
Length Out: 2 - 3/8"		-					
Manufacturer: KM							
Product Number: 45395		Product Number:			45395		
65 Size: 3", varnish, straight cut brush, 6 each \$3.75 \$	65	Size: 3", varnish, straight cut brush,	6	each		\$3.75	\$22.50
Minimum thickness 7/8", length out		-					
3-3/8" minimum weight of bristle 2.625 oz minimum (		-					
Brand: Great American Marketing PX 02625) Product No.		-					
	1	7667002625 or approved equal.					
Page 7 of 43		/ co/ coil of uppic/ cu equal	_	e			

-	GVMODOIC	1			
	SYNOPSIS				
	BID NO. 2015-006-6458			Kelly- Moore Paint Company	
	Annual Contract for the Purchase of Paint and Related				
	Products			2755 Irving Blvd	
				Dallas, Texas 75207	
	CONTRACT PERIOD: 3-17-15 through 3-16-16			(214) 905-2044	
	BUYER: Ruthie Simpkins (214) 653-7437			(214) 905-9487 Fax	
				Rick Roof	
				rroof@kellymoore.com	
	Recommended for award			Goup 5,7,9,12,25,27	
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTENDED PRICE
	Specify Size Being Proposed			3"	
	Thickness:			7/8"	
	Length Out:			3 - 3/8"	
	Manufacturer:			КМ	
	Product Number:			45398	
	Total - Group 9				\$103.20
	Group 12: Brushes, Other			80.7	0
78	Brush, angular, all purpose, 1 inch, 100% polyester, for use with latex paint Brand: American Marketing No.	12	each		\$0.00
	PX02661 Product No. 7667002661 or approved equal				
	Manufacturer: Product Number:			NO BID	
79	Brush, latex, nylox filament, 3", beavertail natural handle, round edge stainless steel ferrule Brand Purdy No. 140380230( <b>NO SUBSTITUTE</b> )	120	each	\$12.4	5 \$1,494.00
	Manufacturer:			Purdy	
	Product Number:			8055	
80	Brush, latex, nylox filament, 2-1/2", beavertail natural handle, round edge stainless steel ferrule, Brand: Purdy No. 140380225( <b>NO SUBSTITUTE</b> )	12	each	\$12.4	5 \$149.40
	Product Number:			Purdy 8034	
	Total - Group 12			\$1,643.4	\$1,643.40
	Group 25: Drop and Tack Cloths			\$1,043.4	-0
148	Butyl Back Canvas Drop Cloth Size: 9' x 12' Brand: Trimaco) Product No.184-4398 or approved equal Specify Weight of Drop Cloth	6	each	\$12.0	0 \$72.00
	Specify Size of Drop Cloth:			9 x 12	
	Manufacturer:			Trimaco	
	Product Number:			34871	
	i roduct ruilloci.			J+0/1	
149	Butyl-Back Canvas Drop Cloth Size: 12' x 15' Brand: Trimaco) Product No.177-2466 or approved equal	6	each	\$12.0	0 \$72.00
	Specify Weight of Drop Cloth	Page 8 c	of 43		

	SYNOPSIS BID NO. 2015-006-6458			Kelly- Moore Paint Co	mpany	
	Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437			2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044 (214) 905-9487 Fax		
				Rick Roof		
	Recommended for award			Goup 5,7,9,12,25,27		
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE
	Specify Size of Drop Cloth:			12 x 15		
	Manufacturer: Product Number:			Trimaco 34853		
150	Butyl-BackCanvas Drop Cloth Size: 4' x 12'Brand: Trimaco or approved equal Specify Weight of Drop Cloth	6	each		\$8.15	\$48.90
	Specify Size of Drop Cloth: Manufacturer: Product Number:			4 x 12 Trimaco		
151	Butyl-Back Canvas Drop Cloth Size: 4' X 15' Brand: Reaves) Product No.796-4653 or approved equal	6	each		\$10.50	\$63.00
	Specify Weight of Drop Cloth Specify Size of Drop Cloth: Manufacturer: Product Number:			4 x 15 Reaves 42975		
152	Canvas Drop Cloth Weight: 8 Oz. (minimum) Size 12' X 15' Brand: Reaves) Product No.177-2110 or approved equal Specify Weight of Drop Cloth	6	each		\$23.00	\$138.00
	Specify Size of Drop Cloth:			12 x 15		
	Manufacturer: Product Number:			Reaves 42970		
153	Canvas Drop Cloth Weight: 8 oz. (minimum) Size: 4' X 15' Brand: Reaves) Product No. 177-2144 or approved equal Specify Weight of Drop Cloth	6	each		\$10.50	\$63.00
	Specify Size of Drop Cloth: Manufacturer: Product Number:			4 x 15 Reaves 42965		
154	Plastic Drop Cloth Thickness: .4 mil (minimum) Size: 9' x 12' Brand: Poly America) Product No. 155- 8964 or approved equal	144	each		\$1.05	\$151.20
	Specify Weight of Drop Cloth Specify Size of Drop Cloth:			1 mil. 9 x 12		
	Manufacturer:			9 x 12 Husky		
	Product Number:			145-2432		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437 Recommended for award DESCRIPTION:	Est.	Qty.	Kelly- Moore Paint Con 2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044 (214) 905-9487 Fax Rick Roof rroof@kellymoore.com Goup 5,7,9,12,25,27 UNIT PRICE		ENDED PRICE
NO.						
155	All Purpose Disposable Drop Cloth Weight: 9 – 10 oz. Size: 12' x 15' Brand: Trimaco or approved equal	6	each		\$0.00	\$0.00
	Specify Weight of Drop Cloth Specify Size of Drop Cloth: Manufacturer: Product Number:			NO BID		
156	Tack Cloth - Super Strength Size: 4.5 square feet, Application Use: For use after sanding and between coats to remove dust, dirt, and sanding residue. Brand: Sherwin- Williams) Product No. 180-5829 or approved equal	144	each		\$0.55	\$79.20
	Specify Quantity Per Package Specify Size of Tack Cloth: Manufacturer: Product Number: <b>Total - Group 25</b>			1 each 18" x 36" Trimaco 34833		\$687.30
	Group 27: Miscellaneous Items					
176	Liquid Scratch Cover, for light wood Size: 8 oz. Brand: Old English or approved equal	24	each			\$0.00
	Size: Manufacturer: Product Number:			NO BID		
177	Liquid Scratch Cover, for dark wood Size: 8 oz. Brand: Old English or approved equal	24	each			\$0.00
	Size: Manufacturer: Product Number:			NO BID		
178	Multipurpose Adhesive, aerosol can, Professional Grade, Type: Can Size: 24 oz. can, Brand: 3M Super 77, Product No. 62497749309 or approved equal	12	each		\$9.95	\$119.40
	Specify Coverage per Square Foot Specify Size of Can: Manufacturer: Product Number:			16.75 3M 4252		

	SYNOPSIS	<u> </u>				
	BID NO. 2015-006-6458			Kelly- Moore Paint Com	ipany	
	Annual Contract for the Purchase of Paint and Related Products			2755 Invine Dlud		
	Froducts			2755 Irving Blvd Dallas, Texas 75207		
	CONTRACT PERIOD: 3-17-15 through 3-16-16			(214) 905-2044		
	BUYER: Ruthie Simpkins (214) 653-7437			(214) 905-9487 Fax		
				Rick Roof		
				rroof@kellymoore.com		
	Recommended for award			Goup 5,7,9,12,25,27		
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE
179	Polyester Sponges, Heavy Duty, Durable, Soft Material:	36	each			\$0.0
175	Estracell Polyester Size: 7-3/4", Brand: Trimaco) Product No. 470341013700 or approved equal	50	caen			φυιο
	Manufacturer:			NO BID		
	Product Number:					
180	Stainless Steel Mud Pan	12	each		\$17.65	\$211.8
	Size: 14", Water tight, Rust-Proof					
	Welded Corners Broad Wallboard) Broduct No. 4072700266 or approved					
	Brand: Wallboard) Product No. 4972700266 or approved equal					
	Manufacturer:			Hyde		
	Product Number:			41141		
181	Wire Brush Scratch Brush	48	each		\$1.40	\$67.20
	Wood Curved Handle, Kiln dried hardwood					
	Size: 13 3/4" Wire Brush, Rows 3 x 19					
	Brand: Great American Marketing) Product No. 7667000319 or approved equal					
	issues is a approved edian					
	Manufacturer:			Hyde		
	Product Number:			36110		
182	Steel Wool Pads, Grade 0 Brand: Rhodes) Product No.	24	pkg		\$1.40	\$33.6
	3387316033 or approved equal		10			
	Specify Quantity per Package			6 package		
	Manufacturer:			Rhondes American 6819		
183	Steel Wool Pads, Grade 1 Brand: Rhodes) Product No.	24	pkg		\$1.35	\$32.40
	3387316034 Specify Quantity per Package			6 package		
	Manufacturer:			Rhodes American		
184	Steel Wool Pads, Grade 2 Brand: Rhodes ) Product No.	24	pkg		\$1.35	\$32.4
104	3387316035 or approved equal	2 <b>4</b>	hrg		φ1. <b>3</b> 3	\$52.4
	Specify Quantity per Package			6 package		
	Manufacturer:			Rhodes American		
185	Steel Wool Pads, Grade 3 Brand: Rhodes ) Product No.	24	each		\$2.10	\$50.4
-	3387316036 or approved equal				,	++ <b>3</b>
	Specify Quantity per Package			3 package		
	Manufacturer:		<b>6</b> 40	Homax		
I	F	age 11	ot 43	I		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437			Kelly- Moore Paint Co 2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044 (214) 905-9487 Fax Rick Roof	mpany	
				rroof@kellymoore.com		
	Recommended for award			Goup 5,7,9,12,25,27		
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTE	NDED PRICE
186	Steel Wool Pads, Grade 4 Brand: Rhodes ) Product	24	pkg		\$1.50	\$36.00
	No.3387316037 or approved equal Specify Quantity per Package Manufacturer:			3 package Homax		
187	Professional Grade 9" Masking Paper Roll Size: 9" x 60 yards Brand: Trimaco ) Product No. 4703412909	12	each		\$1.50	\$18.00
	Specify Roll Size Manufacturer:: Product Number:			9 x 60 Trimaco 10615		
188	Particle Dusk Mask Lightweight Construction Adjustable nose clip NIOSH Certified, Mask per box: 30-50, Brand: Wilson ) Product No.40025CP1000VP or approved equal	18	each		\$9.90	\$178.20
	Specify Quantity Per Box Manufacturer:: Product Number:			30 3M	4289	
189	All Purpose Sanding Sponge Fine /Medium Size: 3-3/4" x 2-5/8" Brand: Johnson ) Product No. JAB1101 or approved equal	48	each			\$0.00
	Manufacturer: Product Number:			NO BID		
190	Disposal Polyethylene Gloves Ambidextrous, Liquid/Chemical Resistant Thickness: 1.25 Mil (minimum) Size: Large Gloves per box: 100, Brand: SAS Safety) Product No.6608 or approved equal	24	each		\$9.00	\$216.00
	Specify Quantity Per Box Manufacturer:: Product Number:			100 SEM PER GUARD 37632		
191	Disposal Polyethylene Gloves Ambidextrous, Liquid/Chemical Resistant Thickness: 1.25 Mil (minimum) Size: Extra Large Gloves per box: 100, Brand: SAS Safety ) Product No. 6609 or approved equal	24	each		\$9.00	\$216.00
	Specify Quantity Per Box Manufacturer:: Product Number:	Page 12		100 SEM PER GUARD 37633		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products CONTRACT PERIOD: 3-17-15 through 3-16-16 BUYER: Ruthie Simpkins (214) 653-7437			Kelly- Moore Paint Company 2755 Irving Blvd Dallas, Texas 75207 (214) 905-2044 (214) 905-9487 Fax Rick Roof <u>rroof@kellymoore.com</u>	,
	Recommended for award			Goup 5,7,9,12,25,27	
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTENDED PRICE
192	Liner, plastic tray, 9", 2 quart capacity, for use with all rollers up to 9", Brand: Linzer) Product No. RM405 or approved equal	12	each		\$0.00
	Manufacturer:			NO BID	
	Product Number:				¢1 011 40
	Total - Group 27			\$187	<b>\$1,211.40</b>
	I/We do have the products in stock			Yes	.00
	<b>Cooperative Purchasing</b> : Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?			Yes	
	Note: All purchases by Governmental Entities other than Dallas County will be billed directly to that Governmental Entity and paid by that Government Entity. Dallas County will not be responsible for other Governmental Entity's debt				
	Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.			Rick Roof, (214) 905-2044 office, cell (817) 705-1585, rroof@kellymoore.com	

<b></b>		•		1	
	SYNOPSIS BID NO. 2015-006-6458			Pinnacle Coatings	
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane Dallas, Texas 75247	
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080	
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax	
				Steve Yake	
				phughes@pinnaclecoatingsgroup.com	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21, 3,24,26	22,2
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTENDED PRICE
	Group 1: Interior and Exterior Paints				
	Group 1: Interior and Exterior Paints				
1	Interior Paint: Acrylic Flat Wall Paint, Master Painters Institute Gloss Level: 1 Size: Five (5) Gallon Container Color: Various Brand: Kelly-Moore 550 Acry-Plex, Sherwin Williams Promar 200 or approved equal	300	gallons	\$1	1.59 \$3,477.00
	Specify Coverage (Sq. Ft./Gallon)60-5 gal palls			400 - 500	
	Manufacturer & Product Name			Murazo-Powerhide/P&L Silver	
	Product Code/Number			3000 Series/28000 Series	
2	Interior Alkyd Satin Enamel, Master Painters Institute Gloss Level: 4, Size: One (1) Gallon Container Color: Various, Brand: Kelly-Moore 1620 Kel-Cote, or approved equal	25	gallons	\$1	8.89 \$472.25
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle ex 5000/P&L Alkyd Satin	
				Enamel	
	Product Code/Number			EX 5200/58800 Series	
3	Interior Alkyd Semi - Gloss Enamel, Master Painters Institute Gloss Level: 5 Size: One (1) Gallon Container, Color: Various Brand: Kelly-Moore 1630 Kel-Cote or approved equal	25	gallons	\$1	8.89 \$472.25
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle Alkyd SE Enamel/P&L All	kyd
	Product Code/Number			SE enamel 5300/D9100 series	
4	100% Acrylic Exterior Flat Paint, Master Painters Institute Gloss Level: 1, Size: One (1) Gallon Container, Color: Various, Brand: Kelly Moore 1240 Acry-Shield or approved equal	25	gallons	\$1	4.39 \$359.75
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle/P&L Pro-Hide Gold ext. L	ТХ
		Page 14	- [ 42	Flat	

<u> </u>	SYNOPSIS	1			
	SYNOPSIS BID NO. 2015-006-6458			Pinnacle Coatings	
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane	
				Dallas, Texas 75247	
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080	
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax	
				Steve Yake phughes@pinnaclecoatingsgroup.com	
				progres@prinaciecoatingsgroup.com	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21,22,2 3,24,26	2
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTENDED PRICE
	Product Code/Number			Z8400 series	
	Floduct Code/Nullider			Zo400 series	
5	100% Acrylic Exterior Low Sheen Paint, Master Painters Institute Gloss Level: 2 Size: One (1) Gallon Container Color: Various, Brand: Kelly-Moore 1245 Acry-Shield or approved equal	25	gallons	\$14.3	9 \$359.75
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle/P&L Pro Hide Gold ext. low	
	Due de sé Ca de Marach au			sheen HP	
	Product Code/Number			Z8500 series	
6	100% Acrylic Exterior Semi-Gloss Enamel, Master	25	gallons	\$14.3	9 \$359.75
	Painters Institute Gloss Level: 5, Size: One (1) Gallon Container Color: Various, Brand: Kelly-Moore 1250 Acry- Shield or approved equal				
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle/P&L Pro Hide Gold ext. LTX SG - ext LTX SE HP	
	Product Code/Number				
				Z8600 series	
7	Alkyd Interior/Exterior Semi-Gloss Enamel, Master Painters Institute Gloss Level: 5, Color: Various Size: One (1) Gallon Container Brand: Kelly-Moore 1275 Weather Shield or approved equal	10	gallons	\$20.3	9 \$203.90
	Specify Coverage (Sq. Ft./Gallon)			400-500	
	Manufacturer & Product Name			Pinnacle int/ext Alkyd SG enamel	
	Product Code/Number			ex520056	
8	Gloss Alkyd Interior/Exterior Rust-Preventative Enamel, Master Painters Institute Gloss Level: 7, Color: Various, Size: One (1) Gallon Container, Brand: Kelly-Moore 1700 Kel-Guard or approved equal	10	gallons	\$20.3	9 \$203.90
	Specify Coverage (Sq. Ft./Gallon)			400-500	
		Page 15	of 43		

<u> </u>		1				
	SYNOPSIS					
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related			Pinnacle Coatings 616 W. Mockingbird Lane		
	Products			D II T 75047		
	Contract Period: 3-17-15 through 3-16-16			Dallas, Texas 75247 (214) 678-0080		
	-					
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgroup.con	<u>n</u>	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,2	21,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE		EXTENDED PRICE
					-	
	Manufacturer & Product Name			Pinnacle int/ext/KRYLON Alkyd	Gloss	
				enamel Alkyd gloss enamel		
	Product Code/Number			ex52000		\$5,908.55
	TOTAL - Group 1					\$3,908.33
	Group 2: Primer, Porch and Floor Enamel and Marking Paint					
9	Alkyd Red-Oxide Rust Preventative Primer, Color: Red	25	gallons	\$	\$17.89	\$447.25
	Oxide, Size: One (1) Gallon Container, Brand: Kelly-					
	Moore 1710 Kel-Guard or approved equal					
	Specify Coverage (Sq. Ft./Gallon)			400-500		
	Manufacturer & Product Name			Pinnacle Red oxide Primer		
	Product Code/Number			PEG155		
10	White Alkyd Rust-Preventative Primer, Size: One (1)	10	gallons	\$	\$17.89	\$178.90
	Gallon Container, Color: Off White, Brand: Kelly-Moore		0			
	1711 Kel-Guard or approved equal					
	Specify Coverage (Sq. Ft./Gallon)			400-500		
	Manufacturer & Product Name			P&L Multipurpose oil primer		
	Product Code/Number			P1100		
11	100% White Acrylic Low Sheen Metal Primer & Finish, Size: One (1) Gallon Container, Color: White Brand: Kelly	10	gallons	\$	\$15.89	\$158.90
	Moore 1725 Acry-Shield or approved equal					
	Specify Coverage (Sq. Ft./Gallon)			400-500		
	Manufacturer & Product Name			P&L Multi-Purpose white primer		
	Product Code/Number			P1001 series		
12	100% Acrylic Porch and Floor Eggshell Enamel, Master	25	gallons	\$	\$13.89	\$347.25
	Painters Institute Gloss Level: 3, Size: One (1) Gallon		-			
	Container, Color: Various, Brand: Kelly-Moore 1786 Dura-	-				
	Poxy+ or approved equal					
	Specify Coverage (Sq. Ft./Gallon)			400-500		
	Manufacturer & Product Name			P&L VITStand egg shell floor enamel	l	
l	Product Code/Number	Page 16	of 43	25100 series		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com		
ITEM NO.	Recommended for award DESCRIPTION:	Est.	Qty.	Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,2 3,24,26 UNIT PRICE	1,22,2	EXTENDED PRICE
13	Zone Marking Paint, Lead Free Waterborne, Masters Painters Institute Gloss Level: 1, Color: Various, Size: Five (5) Gallon Container, Brand: Kelly-Moore 1472 or approved equal	20	gallons 100, 20 each	5	610.00	\$1,000.00
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name			400-500 Krylon lineup		
14	Product Code/Number Interior Oil-Based Primer, Size: One (1) Gallon Container, Brand: Kilz® Original or approved equal( <b>NO</b> <b>SUBSTITUTE</b> )	25	gallons	K411 series	515.39	\$384.75
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number Total - Group 2			400-500 P&L mult purpose oil primer P1100 series		\$2,517.05
	Group 3: Varnish and Stains			\$2,1	69.80	\$ <b>_</b> ,011100
15	Polyurethane Gloss Varnish, Oil Base, Grade: Premium, Color: Clear, Size: One (1) Gallon Container, Brand: ICI/Wood Pride 1908 or approved equal	40	gallons	\$	517.39	\$695.60
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 Varathane/Zinsser 90031		
16	Waterborne Polyurethane Gloss Varnish, Grade: Premium, Color: Clear, Size: One (1) Gallon Container, Brand: Kelly-Moore 2096, ICI/Wood Pride 1808 or approved equal	5	gallons	\$	523.89	\$119.45
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 Varathane 200031		
17	Wood Wiping Stain, Oil Base, Grade: Premium, Size: One (1) Gallon Container, Kelly-Moore 1281-600, ICI/Wood Pride 1700 or approved equal	25 Page 17	gallons of 43	5	513.89	\$347.25

	SYNOPSIS BID NO. 2015-006-6458			Pinnacle Coatings		
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane		
	Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake <u>phughes@pinnaclecoatingsgroup.c</u>	<u>com</u>	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,2	0.21.22.2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE	·,,,_	EXTENDED PRICE
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 <b>P&amp;L Wood STAIN</b> 597 series		
18	Waterborne Wood Wiping Stain Base, Water Base, Grade: Premium, Size: One (1) Gallon Container, Brand: Kelly Moore 1285-600 or approved equal	5	gallons		\$14.89	\$74.45
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 Valspar wood stain WICCO/54		
19	Varnish, alkyd, clear, high gloss, fast dry, Size: One (1) Gallon Container, Color: Clear, Brand: Benjamin Moore 419 or approved equal	20	gallons		\$17.39	\$347.80
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 Varathane 90001		
20	Quick Dry Alkyd Sanding Sealer, clear, quart container, Brand: Sherwin-Williams B26V43 or approved equal	10	quarts		\$4.89	\$48.90
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number			400-500 P&L sanding sealer H40		
21	Quick Dry Alkyd Sanding Sealer, clear, gallon container, Brand: ICI 1916 or approved equal	20	gallons		\$15.89	\$317.80
	Specify Coverage (Sq. Ft./Gallon) Manufacturer & Product Name Product Code/Number <b>Total - Group 3</b>			400-500 P&L SANDING SEALER H40		\$1,951.25
	Group 4: Aerosol Spray Paint and Primer – Industrial Grade					
22	Aerosol Spray Paint, Type: Can Size: Standard Color: Gloss White Brand: Rust-Oleum No. 1992-830 or approved equal	24	each		\$1.79	\$42.96
ļ	Specify Can Size	Page 18	of 43	16 OZ		

<b>—</b>		1						
	SYNOPSIS							
	BID NO. 2015-006-6458			Pinnacle Coatings				
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane				
	Troducts			Dallas, Texas 75247				
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080				
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax				
				Steve Yake				
				phughes@pinnaclecoatingsgrou	p.com			
	Recommended for award			Group				
				1,2,3,4,6,8,10,13,14,15,16,17,18,1 3,24,26	9,20,21,22,2			
ITEM	DESCRIPTION:	Est.	Qty.	UNIT PRICE	I	EXTENDED		
NO.		1.50				PRICE		
	Manufacturer			Krylon workday				
	Product Number			A04401000				
22	A successible and the second	24	1.		¢1.70	¢ 42 06		
23	Aerosol Spray Paint, Type: Can Size: Standard Color: Gloss Black, Brand: Rust-Oleum No. 1979-830 or	24	each		\$1.79	\$42.96		
	approved equal							
	Specify Can Size			16 oz				
	Manufacturer:			Krylon workday				
	Product Number			A04402000				
24	Aerosol Spray Paint Type: Can Size: Standard Color:	24	each		\$1.79	\$42.96		
	Gloss Red, Brand: Rust-Oleum No. V2407-830 or							
	approved equal							
	Specify Can Size			16 oz				
	Manufacturer			Krylon workday				
	Product Number			A04404000				
25	Aerosol Spray Paint Type: Can Size: Standard Color: Flat	48	each		\$1.79	\$85.92		
20	Black, Brand: Rust-Oleum No. 1976-830 or approved	10	cucii		ψ1.7 Σ	\$05.7 <u>2</u>		
	equal							
	Specify Can Size			16 oz				
	Manufacturer:			Krylon workday				
	Product Number			A04412000				
26	Aerosol Spray Paint Type: Can Size: Standard, Color: Flat	48	each		\$1.79	\$85.92		
	White, Rust-Oleum No. 1990-830 or approved equal							
				16				
	Specify Can Size Manufacturer			16 oz Krylon workday				
	Product Number			A0-4422000				
27	Aerosol Spray Paint Type: Can Size: Standard Color:	48	each		\$1.79	\$85.92		
	Safety Red Brand: Rust-Oleum No. 7564-838 or approved							
	equal							
	Specify Can Size			16oz				
	Manufacturer:			Krylon workday				
	Product Number			A04404000				
		 		I				

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,2		
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE	EXTEN PRICE	DED
28	Aerosol Spray Paint Primer Type: Can Size: Standard Color: Red Brand: Rust-Oleum No. 1967-830 or approved equal Specify Can Size Manufacturer Product Number	48	each	16 oz Krylon workday A04408000	\$1.79	\$85.92
29	Aerosol Spray Paint Type: Can Size: Standard Color: Dark Green Brand: Rust-Oleum No. V2137-838 or approved equal Specify Can Size Manufacturer	12	each	16 oz Krylon workday	\$1.79	\$21.48
30	Product Number Aerosol Spray Paint Type: Can Size: Standard Color: Fluorescent Red Brand: Rust-Oleum No. 2264-838 or approved equal	12	each	A04408000	\$3.49	\$41.88
	Specify Can Size Manufacturer Product Number			16 oz Krylon Fluorescent K03101		
31	Aerosol Spray Paint Type: Can Size: 11 oz. can Color: Fluorescent Orange BrandRust-Oleum No. 1954-830 or approved equal	12	each		\$3.49	\$41.88
	Specify Can Size Manufacturer Product Number			16 oz Krylon Fluorescent K03102		
32	Aerosol Spray Paint Primer Professional Grade Type: Can Size: Standard Color: Gray Brand: Rust-Oleum 1980-830 or approved equal	36	each		\$1.79	\$64.44
	Specify Can Size Manufacturer Product Number			16 oz Krylon workday A04418000		

<b></b>		1				
	SYNOPSIS			Dimensio Constinues		
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane		
	Products			oro w. Mockingona Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgr	oup.com	
	Recommended for award			Group		
				1,2,3,4,6,8,10,13,14,15,16,17,18 3,24,26	3,19,20,21,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		TENDED ICE
33	Aerosol Spray Paint Type: Can Size: Standard Color: Light Machine Gray Brand: Rust-Oleum No. V2183-838 or approved equal	12	each		\$1.79	\$21.48
	Specify Can Size			16 oz		
	Manufacturer			Krylon workday		
	Product Number			A04405000		
34	Aerosol Spray Paint Type: Can Size: Standard Color: Dark Machine Gray Brand: Rust-Oleum No. V2187-838 or approved equal	12	each		\$1.79	\$21.48
	Specify Can Size			16 oz		
	Manufacturer			Krylon workday		
	Product Number			A0442000		
35	Aerosol Spray Primer/Stain Killer/Blocker and Sealer For	120	each		\$3.89	\$466.80
	Latex and Oil Based Paints Type: Can Size: 13 oz. can					
	Color: Original White Pigmented Primer Kilz No. 10004, <b>NO SUBSTITUTE</b>					
	Specify Size Being Proposed:			16 oz		
	Manufacturer			Kilz		
	Product Number			10004		
36	Aerosol Spray Graffiti Remover Removes Graffiti from brick, metal, glass, wood, and painted surfaces Type: Can Size: Standard Brand: Watch Dog <sup>™</sup> Lift Away No. 216- 8216 or approved equal	18	each		\$0.00	\$0.00
	Specify Size Being Proposed: Manufacturer					
	Product Number					
	Total - Group 4				¢c 12 22	\$1,152.00
	Group 6: Putty and Compounds				\$643.32	
40	Putty Type: Waterborne Color: Fruitwood Size: 3.68 oz. or smaller Brand: Color Putty Product No. 210 or approved equal	6	each		\$1.95	\$11.70
	Specify Size Being Proposed:			3.68 oz		
	Manufacturer			Color Putty		
ĺ	Product Number	age 21	. of 43	1106400210		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.c Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,2(		
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE		EXTENDED PRICE
41	Putty Type: Waterborne Color: Light Oak Size: 3.68 oz. or smaller Brand: Color Putty Product No. 208 or approved equal	6	each		\$1.95	\$11.70
	Specify Size Being Proposed: Manufacturer Product Number			3.68 oz Color Putty 1106400208		
42	Putty Type: Waterborne Color: Light Walnut Size: 3.68 oz. or smaller Brand: Color Putty Product No. 220 or approved equal	6	each		\$1.95	\$11.70
	Specify Size Being Proposed: Manufacturer Product Number			3.68 oz Color Putty 1106400220		
43	Putty Type: Oil based Color: Fruitwood Size: 3.68 oz. or smaller Brand: Color Putty Product No. 110 or approved equal	6	each		\$1.95	\$11.70
	Specify Size Being Proposed: Manufacturer Product Number			3.68 Color Putty 11064001100		
44	Putty Type: Oil based Color: Light Oak Size: 3.68 oz. or smaller Brand: Color Putty Product No. 108 or approved equal Specify Size Being Proposed: Manufacturer	6	each	3.68 Color Putty	\$1.95	\$11.70
45	Product Number Putty Type: Oil based Color: Light Walnut Size: 3.68 oz. or smaller Brand: Color Putty Product No. 120 or approved equal	6	each	1106400108	\$1.95	\$11.70
	Specify Size Being Proposed: Manufacturer Product Number			3.68 Color Putty 1106400120.00		

	CVNODCIC					
	SYNOPSIS BID NO. 2015-006-6458			Dinnaala Caatinga		
	Annual Contract for the Purchase of Paint and Related Products			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgroup	o.com	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19, 3,24,26	,20,21,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXT PRI	'ENDED CE
46	Painter Putty for Interior and Exterior Ready Mix Color: White Size: Quart (32 oz.) Brand: DAP 53® Product No. 12244 or approved equal	12	quarts		\$5.19	\$62.28
	Specify Size Being Proposed:			32 oz		
	Manufacturer			Red Devil		
	Product Number			7533900594		
47	Glazing Compound Weather Resistant Resisting to cracking and chalking Ready Mix Color: White Size: Quart (32 oz.) Brand: DAP 33® Product No. 12122 or approved equal	12	quarts		\$6.39	\$76.68
	•••••					
	Specify Size Being Proposed:			32 oz		
	Manufacturer Product Number			Red Devil 7533900664		
48	Lightweight Spackling, interior/exterior use Color: White Size: Quart tub Brand: Dap Fast 'n Final® Product No. 12142	12	quarts		\$5.19	\$62.28
	Specify Size Being Proposed:			32 oz/qt		
	Manufacturer			Red Devil		
	Product Number			7533999999		
49	Problem Surface Water-Based Drywall Sealer Size: One (1) gallon container Brand: Zinsser Gardz Product No. 02301 or approved equal	25	gallons		\$11.89	\$297.25
	Specify Size Being Proposed:			Gal.		
	Manufacturer			P&L HI GA hold out primer		
	Product Number			28165		
50	Premixed All Purpose Joint Compound Color: White Size: 50 lb. carton Brand: National Gypsum Product No. JT0091 or approved equal ( <b>USG PLUS 3 NO SUBSTITUES</b> )	75	each		\$7.49	\$561.75
	Specify Size Being Proposed:			50 lbs		
		1				
	Manufacturer			Murco/USG		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com		
ITEM NO.	DESCRIPTION:	Est.	Qty.	1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21, 3,24,26 UNIT PRICE	EXTENDEI PRICE	D
51	Lightweight Joint Compound for interior gypsum panels and exterior gypsum ceiling boards, Brand: U.S. Gypsum Easy Sand National Gypsum No. JT3220 or approved equal Setting Time: 20 minutes Size: 18 lb. bag	75	each	\$	\$8.19\$	614.25
	Specify Size Being Proposed: Manufacturer Product Number			18 lb bag Murco/USG 8109900029		
52	Lightweight Joint Compound for interior gypsum panels and exterior gypsum ceiling boards, U.S. Gypsum Easy Sand National Gypsum No. JT3245 or approved equal Setting Time: 45 minutes Size: 18 lb. bag	50	each	\$	\$7.99 \$:	399.50
	Specify Size Being Proposed: Manufacturer Product Number			18 lb bag Murco 8109900016		
53	Lightweight Joint Compound for interior gypsum panels and exterior gypsum ceiling boards, U.S. Gypsum Easy Sand, National Gypsum No. JT3290 or approved equal Setting Time: 90 minutes Size: 18 lb. bag	100	each	\$	\$7.99 \$	799.00
	Specify Size Being Proposed: Manufacturer Product Number <b>Total - Group 6</b>			18 lb bag Murco 8109900017 \$2,43	,	943.19
	Group 8: Paint Brushes – Polyester/Nylon Filament (Wall)					

	SYNOPSIS						
	BID NO. 2015-006-6458			Pinnacle Coatings			
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane			
				Dallas, Texas 75247			
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080			
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax			
				Steve Yake			
				phughes@pinnaclecoatingsgro	up.com		
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21,22,2			
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE	EXTI PRIC	ENDED E	
<b>7</b> 0		-	<u> </u>		<b>\$7</b> 00	<b>#25.04</b>	
58	Size: 3", wall brush, Minimum thickness 7/8", length out 3-5/8", minimum weight of filament 2.7 oz minimum( Brand: Great American Marketing PX 02535) Product #7667002535	6	each		\$5.99	\$35.94	
	Specify Size Being Proposed:			3"			
	Thickness:			7/8"			
	Length Out:			3 5/8"			
	Manufacturer:			GAM PX02535			
	Product Number:			76670002535			
59	Size: 4", wall brush,	6	each		\$8.29	\$49.74	
	Minimum thickness 7/8", length out						
	3-7/8", minimum weight of filament 4.0 oz minimum (Brand: Great American Marketing PX 02537) Product						
	#7667002537						
	Specify Size Being Proposed:			4"			
	Thickness:			7/8"			
	Length Out:			3 7/8"			
	Manufacturer:			GAM PX02537			
	Product Number: Total - Group 8			7667002537		\$85.68	
	Group 10: Paint Brushes – Economy						
66	Size: 1", minimum thickness 3/8"	6	each		\$0.89	\$5.34	
00	length out 2" minimum (Brand: Wooster - Q31089)	0	Caell		φ <b>0.0</b> 7	φ <b>3.</b> 54	
	Product No. 34192 or approved equal						
	Specify Size Being Proposed			1"			
	Thickness:			3/8"			
	Length Out:			2"			
	Manufacturer:			GAM BP00751			
	Product Number:			7667000751			
67	Size: 1-1/2", minimum thickness 7/16"	6	each		\$0.99	\$5.94	
	length out, 2-1/4" minimum (Brand: Wooster-P3971)						
	Product No. 43815 or approved equal						
1	Specify Size Being Proposed	1		1.5"			

<b></b>					
	SYNOPSIS				
	BID NO. 2015-006-6458			Pinnacle Coatings	
	Annual Contract for the Purchase of Paint and Related			616 W. Mockingbird Lane	
	Products				
				Dallas, Texas 75247	
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080	
	_				
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax	
				Steve Yake	
				phughes@pinnaclecoatingsgroup.com	
	Recommended for award			Group	
				1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21,22, 3,24,26	2
ITEM	DESCRIPTION:	Est.	Qty.	UNIT PRICE	EXTENDED
NO.			-		PRICE
	Thickness:			7/16"	
	Length Out:			2 1/4"	
	Manufacturer:			GAM BP 00752	
	Product Number:			7667000752	
68	Size: 2", minimum thickness 7/16"	6	each	\$1.2	9 \$7.74
08		0	each	φ1.2	φ1.1 <u>-</u>
	length out, 2-1/2" minimum (Brand: Wooster-P3972)				
	Product No. 41344 or approved equal				
	Specify Size Being Proposed			2"	
	Thickness:			7/16"	
	Length Out:			2.5"	
	Manufacturer:			GAM BP00753	
	Product Number:			7667000753	
69	Size: 2-1/2" minimum thickness <sup>1</sup> / <sub>2</sub> ",	6	each	\$3.2	9 \$19.74
0,	length out, 2-1/2" minimum (Brand: Wooster -Q3108)	U	each	φσ	φ1).(
	Product No. 34189 or approved equal				
	** *			2.5"	
	Specify Size Being Proposed			2.5"	
	Thickness:			1/2"	
	Length Out:			2.5"	
	Manufacturer:			GAM BP00754	
	Product Number:			7667000754	
70	Size: 3", minimum thickness <sup>1</sup> / <sub>2</sub> ",	6	each	\$1.8	9 \$11.34
	length out 2-3/4" minimum (Brand: Wooster -P3973.				
	Product No. 24375or approved equal				
	Specify Size Being Proposed			3"	
	Thickness:			3 1/2"	
	Length Out:			2 3/4"	
	Manufacturer:			GAM BP00755	
	Product Number:			7667000755	
71	Size: 4", minimum thickness 7/8",	6	each	\$2.7	9 \$16.74
	length out 3" minimum (Brand: Wooster - P3974) Product				
	No. 38063 or approved equal				
	Specify Size Being Proposed			4"	
	Thickness:			7/8"	
	Length Out:			3"	
	Manufacturer:			GAM BP00757	
	Product Number:	Page 26	of 43	7667000757	
		rage 26	01 43		

<b></b>	SYNOPSIS	1				1
	BID NO. 2015-006-6458			Pinnacle Coatings		
	Annual Contract for the Purchase of Paint and Related			616 W. Mockingbird Lane		
	Products			Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgroup.cc	<u>om</u>	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20	,21,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE		EXTENDED PRICE
	Total - Group 10					\$66.84
	Total - Group To					<b>\$UU.04</b>
	Group 13: Roller Covers – Synthetic Blend					
81	Size: 9", Nap 1/2", Synthetic Blend Brand: Great American	18	each		\$2.09	\$37.62
	Marketing No. BC01896) Product No. 7667001896 or					
	approved equal			CAN D CO1007		
	Manufacturer: Product Number:			GAM BC01896 7667001896		
	riouterivatioer.			/00/0010/0		
82	Size: 9", Nap 3/4", Synthetic Blend Brand: Great	18	each		\$2.29	\$41.22
	American Marketing No. BC 01898) Product No.					
	7667001898 or approved equal Manufacturer:			GAM BC01898		
	Product Number:			7667001898		
				1001001090		
83	Size: 9", Nap 1", Synthetic Blend Brand: Great American	18	each		\$2.69	\$48.42
	Marketing No.BC01897) Product No. 7667001897 or					
	approved equal Manufacturer:			GAM BC01897		
	Product Number:			7667001897		
84	Size: 9", Nap 1-1/4", Synthetic Blend Brand: Great	18	each		\$2.99	\$53.82
	American Marketing No. BC01889) Product No. 7667001899 or approved equal					
	Manufacturer:			GAM BC01899		
	Product Number:			7667001899		
85	Size 4.1/2" Non 1/2" Symthetic Bland Brandy Creat	120	each		\$1.19	\$142.80
00	Size: 4-1/2", Nap 1/2", Synthetic Blend Brand: Great American Marketing No. RC00044) Product No.	120	each		\$1.19	\$142.80
	7667000044 or approved equal					
	Manufacturer:			GAM RC00044		
	Product Number:			7667000044		<b>****</b>
	Total - Group 13					\$323.88
	Group 14: Roller Covers – Lambswool					
86	Size: 9", Nap <sup>1</sup> / <sub>2</sub> ", Lambswool Brand: Wooster R291-9)	48	each		\$4.49	\$215.52
	Product No. 71468 or approved equal					
I	Manufacturer:	Page 27	of 12	GAM RC70905		

	annona	1				
	SYNOPSIS			Birma ala Caratinan		
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane		
	Products			oro w. woekingond Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgro	up.com	
	Recommended for award			Group		
				1,2,3,4,6,8,10,13,14,15,16,17,18,1 3,24,26	19,20,21,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE
	Due due et Neural e m			7((7070005		
	Product Number:			7667070905		
87	Size: 9", Nap 3/4", Lambswool Brand: Wooster R292-9) Product No. 71469 or approved equal	24	each		\$4.49	\$107.76
	Manufacturer:			GAM RC 70906		
	Product Number:			7667070906		
88	Size: 9", Nap 1", Lambswool Brand: Wooster R290-9)	24	each		\$5.69	\$136.56
	Product No. 45661 or approved equal					
	Manufacturer:			GAM RC 70907		
	Product Number:			7667070907		
89	Size: 9", Nap 1-1/4", Lambswool Brand: Wooster R293-	24	each		\$5.79	\$138.96
	9) Product No. 70881 or approved equal					
	Manufacturer:			GAM RC70908		
	Product Number: Total - Group 14			7667070908		\$598.80
	Total - Group 14				491.04	\$390.00
	Group 15: Roller Covers – Foam				191101	
90	Size: 9", Nap 1/8", Foam Seamless Brand: Wooster R206-	48	each		\$2.19	\$105.12
	9) Product No. 26962 or approved equal					
	Manufacturer:			GAM/JEN		
	Product Number:			7667099999/8080600009		
91	Size: 9", Nap 3/8", Foam Seamless Brand: Wooster R205-	48	each		\$2.45	\$117.60
	9) Product No. 34366 or approved equal					
	Manufacturer:			GAM RC70905		
	Product Number:			7667070925		
92	Size: 9", Nap 3/16", Foam: Fine Finishing Brand:	12	each		\$1.73	\$20.76
	Wooster R265-9) Product No. 34888 or approved equal					
	Manufacturer:			GAM RC 70905		
	Product Number:			766707925		<b>** **</b>
	Total - Group 15				\$117.60	\$243.48
	Group 16: Roller & Roller Covers-Other				φ117.00	
1	r	1				

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437		st. Qty.	Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com		
ITEM NO.	Recommended for award DESCRIPTION:	Est.		Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20 3,24,26 UNIT PRICE	E	XTENDED RICE
93	Cover, roller, 9", 1/2" nap, Brand: Great American Marketing No. RC01896 ) Product No. 7667001896or approved equal Manufacturer: Product Number:	24	each	GAM RC01896 7667001896	\$0.85	\$20.40
94	Cover, roller, 9", 3/8" nap, Great American marketing No. RC70038) Product No. 7667070038 or approved equal Manufacturer:	24	each	GAM RC70038	\$0.83	\$19.92
95	Product Number: Cover, roller, 9", 1/2" nap, semi-smooth, maize knit fabric, heavy duty core, Brand: Bestt Liebco No. L9V97 ) Product No. 508972900 or approved equal Manufacturer: Product Number:		each	7667070038 Bestt Liebco/Berger RC72950 7981999998/508972900	\$2.35	\$56.40
96	Cover, roller, 4", 1/2" nap, maize knit fabric, Brand: Best Liebco No. L4V97) Product No. 508972400 or approved equal Manufacturer: Product Number:	24	each	Bestt Liebco/Berger RC 72438 7981999999/508972400	\$1.55	\$37.20
97	Cover, roller, 9", 1/2" nap, 50/50 blend, polyester & lambswool, Brand: Great American Marketing No. RC- 70050 or approved equal Manufacturer: Product Number:	12	each	GAM RC70050 7667070050	\$2.69	\$32.28
98	Cover, roller, 9" 1/2" nap, semi-smooth, nylon/polyester blend, Brand: Great American Marketing RC01896) Product No. 7667001896 or approved equal Manufacturer: Product Number:	12	each	GAM RC01896 7667001896	\$1.35	\$16.20
99	Cover, roller, 9" X 3/4" nap, LSP 075, Merino Sheepskin, Brand: Merino) Product No. 70951 or approved equal	144 Page 29	each		\$6.49	\$934.56

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com		
ITEM NO.	Recommended for award DESCRIPTION:	Est.	Qty.	Group 1,2,3,4,6,8,10,13,14,15,16,17,1 3,24,26 UNIT PRICE	8,19,20,21,22,2	EXTENDED PRICE
	Manufacturer: Product Number:			Linzer 09003 743854 090031		
100	Cover, roller, 9" X 1/2" nap, LSP 075, Merino Sheepskin, Brand: Merino) Product No. 70950 or approved equal	24	each		\$6.39	\$153.36
	Manufacturer: Product Number:			Linzer 09002 743854090024		
101	Cover, roller, 9" X 1/4" nap, Mohawk Blend Fabric, Brand: Wooster Candy Stripe Product No. R209-9 Manufacturer:	100	each	Derroor	\$2.59	\$259.00
	Product Number: Total - Group 16			Berger RC 72925	\$441.40	\$1,529.32
	Group 17: Roller Frames				\$441.40	
102	Size: 9", Length 14", Rod Diameter 5/16" Brand: Great American Marketing FR01195) Product No. 7667001195 or approved equal	72	each		\$1.89	\$136.08
	Manufacturer: Product Number:			GAM FR01195 7667001195		
103	Size: 4-1/2", Length 14", Rod Diameter 5/16" Brand: Great American Marketing FR01746) Product No.	48	each		\$1.45	\$69.60
	7667001746 or approved equal Manufacturer: Product Number:			GAM FR01746 7667001746		
104	Size: 4", Length 12", Rod Diameter ¼", Zinc plated rod, Polypropylene threaded handle Brand: Great American Marketing FR01711) Product No. 7667001711 or approved equal	12	each		\$0.75	\$9.00
	Manufacturer: Product Number: Total -Group 17			GAM FR01711 7667001711		\$214.68

	SYNOPSIS					
	BID NO. 2015-006-6458			<b>Pinnacle Coatings</b>		
	Annual Contract for the Purchase of Paint and Related			616 W. Mockingbird Lane		
	Products					
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsg	roup.com	
	Recommended for award			Group		
				1,2,3,4,6,8,10,13,14,15,16,17,1 3,24,26	8,19,20,21,22,2	
ITEM	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED
NO.						PRICE
	Group 18: Threaded Metal Wood and Adjustable					
	Aluminum Extension Poles					
105	Size: 48", Oak Brand: Great American Marketing	6	each		\$1.59	\$9.54
	WP00248) Product No. 7667000248 or approved equal					
	Manufacturer:			GAM WP00248		
	Product Number:			7667000248		
				1001000210		
106	Size: 60", Oak Brand: Great American Marketing	6	each		\$2.15	\$12.90
	WP00260) Product No. 7667000260 or approved equal					
	Manufacturer:			GAM WP 00260		
	Product Number:			7667000260		
107	Size 72" Och Deve & Creek American Madating	~	1		¢2.c0	¢15.00
107	Size: 72", Oak Brand: Great American Marketing WP00272) Product No. 7667000272 or approved equal	6	each		\$2.60	\$15.60
	w100272)110ddet110.7007000272 of approved equal					
	Manufacturer:			GAM WP 00272		
	Product Number:			7667000272		
108	Adjustable Aluminum Paint Extension Pole Hexagonal	6	each		\$11.19	\$67.14
	aluminum inner pole prevents					
	twisting. Rugged fiberglass outer pole. Adjusts in 6"					
	increments. Locks securely in place. Universal zinc die cast threaded tip Size: Adjustable 2' to 4' feet Brand:					
	Great American Marketing WP00381 ) Product No.					
	7//70002011			C + 1 4 H T 00001		
	Manufacturer:			GAM WP 00381 7667000381		
	Product Number:			/00/000381		
109	Adjustable Aluminum Paint Extension Pole Hexagonal	6	each		\$13.59	\$81.54
	aluminum inner pole prevents twisting. Rugged fiberglass					
	outer pole.					
	Adjusts in 6" increments. Locks securely in place.					
	Universal zinc die cast threaded tip. Size: Adjustable 4' to 8' feet Brand: Great American Marketing WP00383)					
	Product No. 76670003830r approved equal					
				CAM WD 00292		
	Manufacturer:			GAM WP 00383		
	Product Number:			7667000383		
•		Page 31	of 43			I

	SVNODSIS					
	SYNOPSIS BID NO. 2015-006-6458			Pinnacle Coatings		
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgrc	oup.com	
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18, 3,24,26	19,20,21,22,2	
	DESCRIPTION:	Est.	Qty.	UNIT PRICE		ENDED
NO.					PRI	CE
110	Adjustable Aluminum Paint Extension Pole Hexagonal	2	each		\$17.89	\$35.78
110	aluminum inner pole prevents twisting. Rugged fiberglass outer pole.	2	caen		ψ17.0 <i>9</i>	\$55.10
	Adjusts in 6" increments.Locks securely in place.Universal					
	zinc die cast threaded tip. Size: Adjustable 6' to 12' feet					
	Brand: Great American Marketing WP00385) Product No. 76670003850r approved equal					
	Manufacturer:			GAM WP 00385		
	Product Number:			7667000385		
111	Adjustable Aluminum Paint Extension Pole Hexagonal	2	each		\$27.79	\$55.58
	aluminum inner pole prevents twisting. Rugged fiberglass					
	outer pole.					
	Adjusts in 6" increments.Locks securely in place. unversal					
	zinc die cast threaded tip. Size: Adjustable 8' to 16' feet Brand: Great American Marketing WP00386) Product No.					
	7667000386 or approved equal					
	Manufacturer:			GAM WP 00386		
	Product Number:			7667000386		
	Total - Group 18					\$278.08
	Group 19: Paint Trays and Liners					
110	Deint Trees Deer Well Hearer Dete	10	1-		¢ <b>5</b> 80	¢10C 02
112	Paint Tray, Deep Well, Heavy Duty Steel Plated, Rust Resistant, Ribbed Bottom	18	each		\$5.89	\$106.02
	Ladder Hook Legs					
	Fits Covers up 9" wide					
	Capacity: Up to One (1) Gallon Brand: Linzer) Product					
	No. R71430-9 or approved equal					
	Manufacturer:			Linzer/GAM/BERGER		
	Product Number:			R71430-9		
113	Liner, for the above listed paint tray Brand: Great	48	each		\$0.50	\$24.00
	American Marketing PT09144) Product No. 7667009144					
	or approved equal					
				G 4 3 4 3 7 7 0 0 1 4 4		
	Manufacturer: Product Number:			GAM PT09144 7667009144		

	SYNOPSIS					
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake phughes@pinnaclecoatingsgr	oup.com	
	Recommended for award			Group	10 20 21 22 2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	1,2,3,4,6,8,10,13,14,15,16,17,18 3,24,26 UNIT PRICE		ENDED 'F
110.					T KIC	
114	Paint Tray, Deep Well, Heavy Duty Molded Plastic, Solvent Resistant Ribbed or Traction Bottom Ladder Hook Legs Fits Covers up 9" wide Capacity: Up to One (1) Gallon Brand: Linzer) Product No. RM425 or approved equal	12	each		\$2.60	\$31.20
	Manufacturer: Product Number:			Linzer RM425		
115	Liner, for the above listed paint tray, Brand: Linzer) Product No.RM412 or approved equal	48	each		\$0.50	\$24.00
	Manufacturer:			Linzer		
	Product Number:			RM 412		
	Total - Group 19					\$185.22
	Group 20: Metal Plated Bucket Grids					
116	Metal Grid, heavy duty, 4-sided Size 5 Gallons, Brand: Great American Marketing PT03115) Product No. 7667003115 or approved equal	72	each		\$1.03	\$74.16
	Manufacturer:			GAM PT 03115		
	Product Number:			7667003115		
117	Metal Grid heavy duty, 4-sided Size: 2 Gallons, Brand: Great American Marketing PT03112) Product No. 7667003112 or approved equal	12	each		\$0.99	\$11.88
	Manufacturer:			GAM PT 03112		
	Product Number: Total - Group 20			7667003112		\$86.04
	Group 21: Nylon Painter Stainers					
118	Nylon Mesh Paint Strainer Elastic Top	72	each		\$0.95	\$68.40
	Capacity: 5 Gallons, Brand: Trimaco No.36523 or					
	approved equal Manufacturer:			Trimaco/Mutuaz		
	Product Number:			4703411513		
l		Page 33	8 of 43			

	SYNOPSIS						
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane			
	Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake			
				phughes@pinnaclecoatingsgroup	<u>o.com</u>		
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19	,20,21,22,2		
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE	EXT PRIC	ENDED CE	
119	Nylon Mesh Paint Strainer	72	each		\$0.55	\$39.60	
	Elastic Top Capacity: 1 Gallon, Brand Trimaco No. 36524 or approved equal						
	Manufacturer: Product Number:			Trimaco/Mutuaz 4703411511/662853045821			
	Total - Group 21					\$108.00	
	Group 22: Tapes						
120	Size: ¾" x 60 yards, Blue Painters Tape Brand: 3M 2090 or approved equal	36	rolls		\$2.19	\$78.84	
	Specify Tape Size Manufacturer::			3/4" x 60 Berger			
	Product Number:			BT34			
121	Size: 1" x 60 yards, Blue Painters Tape Brand: 3M 2090 or approved equal	36	rolls		\$2.89	\$104.04	
	Specify Tape Size			1" x 60 YDS			
	Manufacturer:: Product Number:			Berger BT1			
122	Size: 1-1/2" x 60 yards, Blue Painters Tape	48	rolls		\$4.39	\$210.72	
	Brand:3M 2090 or approved equal Specify Tape Size			1.5" x 60 YDS			
	Manufacturer:: Product Number:			Berger BT15			
123	Size: 2" x 60 yards, Blue Painters Tape Brand: 3M 2090 or approved equal	72	rolls		\$5.89	\$424.08	
	Specify Tape Size Manufacturer:: Product Number:			2" x 60 YDS Berger BT2			
124	Size: 3" x 60 yards, Blue Painters Tape	12	rolls		\$11.39	\$136.68	
	Brand: 3M 2090 or approved equal						
	Specify Tape Size	 Page 34	of 43	3 x 60 YDS			

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com	
ITEM NO.	DESCRIPTION:	Est.	Qty.	1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21,22,2 3,24,26 UNIT PRICE	EXTENDED PRICE
	Manufacturer:: Product Number:			Shurtape 311 Blue tape	
125	Size: 2" X 100 yards, Drywall Fiberglass Tape, Brand: 3M 385 or approved equal Specify Tape Size Manufacturer:: Product Number:	100	each	\$6.39 2" X 100 YDS Fibtape 38667211103	9 \$639.00
126	Size: 2" X 250 feet, Fibatape Paper Joint Tape, Brand: Saint-Gobain No. FDW6618-U or approved equal Specify Tape Size Manufacturer:: Product Number:	100	each	\$1.6 2" x 250' USG 8109900405	3 \$163.00
127	Size: 3/4" x 60 yards, Masking Tape Brand: 3M 2090 or approved equal Specify Tape Size Manufacturer:: Product Number:	24	each	\$1.09 3/4" x 60 YDS Shurtape .75" Shurtape	9 \$26.16
128	Size: 1" x 60 yards, Masking Tape Brand: 3M 2090 or approved equal Specify Tape Size Manufacturer:: Product Number:	24	each	\$1.2 1" x 60 Premier/Shurtape LB000024	9 \$30.96
129	Size: 1-1/2" x 60 yards, Masking Tape Brand: 3M 2090 or approved equal Specify Tape Size Manufacturer:: Product Number:	12	each	\$1.8 1.5" X 60 yds Premier/Shurtape LB 000036	9 \$22.68
130	Size: 2" x 60 yards, Masking Tape Brand: 3M 2090 or approved equal Specify Tape Size Manufacturer:: Product Number:	12 Page 35	each	\$2.50 2" x 60 Premier/Shurtape LB 000048	0 \$30.00

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax				
				Steve Yake phughes@pinnaclecoatingsgroup.com				
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18 3,24,26	,19,20,21,22,2			
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE		
131	Size: 3" x 60 yards, Masking Tape	12	rolls		\$4.50	\$54.00		
	Brand: 3M 2090 or approved equal Specify Tape Size Manufacturer:: Product Number:			3" x 60 YDS Shurtape 3" Shurtape				
	Total - Group 22			5 Shurtape	\$848.64	\$1,920.16		
	Group 23: Sand and Floor Paper Industrial Grade				φ <b>0</b> 40.04			
132	Type : Garnet Sandpaper Industrial Grade, Grit: 80 Brand: 3M No. 41348 or approved equal	24	sleeves		\$6.09	\$146.16		
	Specify number of sheets per sleeve Manufacturer:: Product Number:			50 NORTON/JOHNSON 7660701512				
133	Type : Garnet Sandpaper Industrial Grade, Grit: 120 Brand 3M No. 45863 or approved equal	12	sleeves		\$7.55	\$90.60		
	Specify number of sheets per sleeve Manufacturer:: Product Number:			100 NORTON/JOHNONS 7660701514				
134	Type : Garnet Sandpaper Industrial Grade, Grit: 150 Brand: 3M No 41432. or approved equal	12	sleeves		\$4.90	\$58.80		
	Specify number of sheets per sleeve Manufacturer:: Product Number:			100 NORTON/JOHNSON 7660701490				
135	Type : Garnet Sandpaper Industrial Grade, Grit: 180 Brand: 3M No. 41433 or approved equal	12	sleeves		\$4.90	\$58.80		
	Specify number of sheets per sleeve Manufacturer:: Product Number:			100 NORTON/JOHNSON 701512				
136	Type : Garnet Sandpaper Industrial Grade, Grit: 220 Brand: 3M 41434 or approved equal	24 Page 36	sleeves		\$4.90	\$117.60		

SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgrou				
Recommended for award DESCRIPTION:	Est.	Qty.	Group 1,2,3,4,6,8,10,13,14,15,16,17,18,1 3,24,26 UNIT PRICE	I	EXTENDED PRICE		
				1	KICE		
Specify number of sheets per sleeve Manufacturer:: Product Number:			100 NORTON/JOHNSON 7660701511				
No. 36799 or approved equal Specify Size Being Proposed	5	rolls	8" X 50 YDS	\$110.00	\$550.00		
			JAFP 850		¢1 021 06		
Total - Group 25				\$471.96	\$1,021.96		
Group 24: Caulk and Caulking Guns				ψ171.90			
Butyl Caulk Type: Tube Cartridge Size: 10.1 oz. Color: Aluminum Gray Brand: Red Devil) Product No. 0698AG or approved equal	12	each		\$2.89	\$34.68		
			10 oz				
Product Number:			Red Devil				
			7533906698 AG				
Butyl Caulk Type: Tube Cartridge Cartridge Size: 10.1 oz.Color: Bronze Brand: Red Devil ) Product No. 0698BR or approved equal	12	each		\$2.89	\$34.68		
Product Number:			/333900098BK				
Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal	12	each		\$1.15	\$13.80		
Specify Tube Size: Manufacturer:: Product Number:			10.1 oz White Lightning WL30060 2327530060				
Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz. Color: Clear Brand: Red Devil) Product No. 0777 or	12	each		\$1.19	\$14.28		
	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award DESCRIPTION: Specify number of sheets per sleeve Manufacturer:: Product Number: Type : Floor Paper Industrial Grade, Grit: 100, Size: 8" x 50 yards Brand: 3M No. 36799 or approved equal Specify Size Being Proposed Manufacturer:: Product Number: Total - Group 23 Group 24: Caulk and Caulking Guns Butyl Caulk Type: Tube Cartridge Size: 10.1 oz. Color: Aluminum Gray Brand: Red Devil) Product No. 0698AG or approved equal Specify Tube Size: Manufacturer:: Product Number: Butyl Caulk Type: Tube Cartridge Cartridge Size: 10.1 oz.Color: Bronze Brand: Red Devil ) Product No. 0698BR or approved equal Specify Tube Size: Manufacturer:: Product Number: Butyl Caulk Type: Tube Cartridge Size: 10.1 oz.Color: Bronze Brand: Red Devil ) Product No. 0698BR or approved equal Specify Tube Size: Manufacturer:: Product Number: Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal Specify Tube Size: Manufacturer:: Product Number: Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal Specify Tube Size: Manufacturer:: Product Number:	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related ProductsImage: ProductsContract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Image: Product Simpkins (214) 653-7437Recommended for awardEst.DESCRIPTION:Est.Specify number of sheets per sleeve Manufacturer:: Product Number:5Type : Floor Paper Industrial Grade, Grit: 100, Size: 8" x 50 yards Brand: 3M No. 36799 or approved equal Specify Size Being Proposed Manufacturer:: Product Number:5Total - Group 23Group 24: Caulk and Caulking Guns12Butyl Caulk Type: Tube Cartridge Size: 10.1 oz. Color: Aluminum Gray Brand: Red Devil) Product No. 0698AG or approved equal Specify Tube Size: Manufacturer:: Product Number:12Butyl Caulk Type: Tube Cartridge Size: 10.1 oz.Color: Bronze Brand: Red Devil) Product No. 0698AG or approved equal Specify Tube Size: Manufacturer:: Product Number:12Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal Specify Tube Size: Manufacturer:: Product Number:12Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal Specify Tube Size: Manufacturer:: Product Number:12Multi-Purpose Caulk Type: Tube Cartridge Size: 10.1 oz.Color: White Brand: Red Devil) Product No. 0782 or approved equal Specify Tube Size: Manufacturer:: Product Number:12	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related ProductsImage: Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Image: Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Recommended for awardEst.Qty.DESCRIPTION:Image: Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Image: Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437Specify number of sheets per sleeve Manufacturer:: Product Number:Image: Contract Period: 3-17-15 through 3-16-16 Contract Period: 100, Size: 8" x 50 yards Brand: 3M No. 36790 or approved equal Specify Size Being Proposed Manufacturer:: Product Number:Image: Contract Period: 3-17-15 through 3-16 th	BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related ProductsFinnacke Coatings 610 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (214) 678-0080 (215) 700 (216) 700 	HD NO. 2015-066-6458 Annual Contract for the Purchase of Paint and Related Products       Financle Constings 616 W. Mockingbird Lane         Products       Dallas, Texas 75247       Dallas, Texas 75247         Contract Period: 3-17-15 through 3-16-16       Dallas, Texas 75247       Cl409 227-8386 Fax         Buyer: Ruthie Simpkins (214) 653-7437       Cl409 227-8386 Fax       Steve Yake         Products       Comp       Cl409 227-8386 Fax       Steve Yake         DESCRIPTION:       Est.       Qz.       UNTT PRICE       I         Specify number of sheets per sleeve       NorrON/JOHNSON       NORTON/JOHNSON       NorrON/JOHNSON         Specify number:       NORTON/JOHNSON       St 50 YDS       NORTON/JOHNSON       St 50 YDS         Manufacturer:       NorrON/JOHNSON       St 50 YDS       NORTON/JOHNSON       St 50 YDS         Manufacturer:       NorrON/JOHNSON       St 50 YDS       NORTON/JOHNSON       St 50 YDS         Manufacturer:       I       Caech       St 50 YDS       St 50 YDS         Manufacturer:       NorrON/JOHNSON       St 50 YDS       NORTON/JOHNSON       St 50 YDS         Manufacturer:       I       Caech       St 50 YDS       St 50 YDS         Manufacturer:       I       Caech       St 50 YDS       St 50 YDS		

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com	<u>n</u>	
ITEM NO.	Recommended for award DESCRIPTION:	Est.	Qty.	Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,2 3,24,26 UNIT PRICE		EXTENDED PRICE
	Specify Tube Size: Manufacturer:: Product Number:			10.1 oz White Lightning/DAP WL30067 2327530067		
142	Acrylic Latex Painter Caulk Type: Tube Cartridge Cartridge Size: 10.1 oz. Color: White Brand: Red Devil) Product No. 0746 or approved equal Specify Tube Size: Manufacturer:: Product Number:	120	each	10.1 oz White Lightning 2327530060	\$1.19	\$142.80
143	100% Silicone Caulk Type: Tube Cartridge Cartridge Size:10.1 oz.Color: White Brand: DAP) Product No. 08646 or approved equal Specify Tube Size: Manufacturer:: Product Number:	12	each	10.1 oz White lightning WL 099112N 2327512868	\$2.15	\$25.80
144	<ul><li>100% Silicone Caulk Type: Tube Cartridge Cartridge</li><li>Size: 10.1 oz. Color: Clear Brand: DAP) Product No.</li><li>08641 or approved equal</li><li>Specify Tube Size:</li><li>Manufacturer::</li><li>Product Number:</li></ul>	12	each	10.1 oz White Lightning WL 099110C 2327599110	\$2.15	\$25.80
145	Tube and Tile Caulk Type: Tube Cartridge Cartridge Size: 10.1 oz. Color: White Brand: DAP) Product No. 18002 or approved equal Specify Tube Size: Manufacturer:: Product Number:	12	each	10.1 oz White Lightning/DAP WL 02510 2327512861	\$3.79	\$45.48
146	Tube and Tile Caulk Type: Tube Cartridge Cartridge Size: 5.5 oz.Color: White Brand: DAP) Product No.18001or approved equal Specify Cartridge Size: Manufacturer:: Product Number:	48 Page 38	each of 43	5.5 oz White Lightning WL 50501 2327550501	\$1.39	\$66.72

ITEM	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award DESCRIPTION:	Est.	Qty.	Pinnacle Coatings 616 W. Mockingbird Lar Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoating: Group 1,2,3,4,6,8,10,13,14,15,16,17 3,24,26 UNIT PRICE	sgroup.com	EXTENDED
NO.						PRICE
147	Caulking Gun 9" Minimum, Heavy Duty Built In Spout Cutter, No Pinch Finger Guard Ladder Hook Industrial Ratchet-Quick Release, All welded steel and puncture tool, Quick Release, Brand: Great American Marketing) Product No. 7667000126 or approved equal	24	each		\$3.89	\$93.36
	Manufacturer:: Product Number:			GAM CG00126 7667000126		
	Total - Group 24					\$497.40
	Group 26: Knives				\$382.56	
157	Joint Knife Blade: 2", Flexible, Carbon Steel Handle: Polypropylene Brand: Great American Marketing PT06224) Product No. 7667006224 or approved equal	6	each		\$2.49	\$14.94
	Manufacturer: Product Number:			GAM PT06224 7667006224		
158	Joint Knife Blade: 3", Flexible, Carbon Steel Handle: Polypropylene Brand: Great American Marketing PT06234) Product No. 7667006234 or approved equal	6	each		\$3.19	\$19.14
	Manufacturer: Product Number:			GAM PT06234 7667006234		
159	Joint Knife Blade: 4", Flexible, Steel Handle: Polypropylene Brand: Great American Marketing PT06240) Product No. 7667006240 or approved equal	6	each		\$4.49	\$26.94
	Manufacturer: Product Number:			GAM PT06240 7667006240		

ITEM NO.	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437 Recommended for award DESCRIPTION:	Est.	Qty.	Pinnacle Coatings         616 W. Mockingbird Lane         Dallas, Texas 75247         (214) 678-0080         (469) 227-8386 Fax         Steve Yake         phughes@pinnaclecoatingsgroup.co         Group         1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,         3,24,26         UNIT PRICE	21,22,2 EX	TENDED ICE
160	Joint Knife Blade: 5", Flexible, Steel Handle: Polypropylene Brand: Great American Marketing PT 06250) Product No.7667006250 or approved equal	6	each		\$4.65	\$27.90
	Manufacturer: Product Number:			GAM PT06250 7667006250		
161	Joint Knife Blade: 6", Flexible, Carbon Steel Handle: Polypropylene Brand: Great American Marketing PT06260) Product No. 7667006260 or approved equal	18	each		\$5.05	\$90.9
	Manufacturer: Product Number:			GAM PT06260/Howard berger 7667006260		
162	Joint Knife Blade: 8", Flexible, Carbon Steel Handle: Polypropylene Brand: Wallboard Tools EK08) Product No. 4972788002 or approved equal	6	each		\$5.19	\$31.14
	Manufacturer: Product Number:			Walboard EK08/Howard Berger 4972788002		
163	Joint Knife Blade: 10", Flexible, Carbon Steel Handle: Polypropylene Brand: Hyde) Product No. 9213 or approved equal	12	each		\$4.85	\$58.20
	Manufacturer: Product Number:			Walboard Ek10/Howard Berger 4972788003/ 79823		
164	Joint Knife Blade: 12", Flexible, Steel Handle: Polypropylene, Brand: Hyde) Product No. 9214 or approved equal	12	each		\$5.19	\$62.28
	Manufacturer: Product Number:			Walboard Ek12/Howard Berger 4972788004		

	SYNOPSIS					
	BID NO. 2015-006-6458			Pinnacle Coatings		
	Annual Contract for the Purchase of Paint and Related Products			616 W. Mockingbird Lane		
				Dallas, Texas 75247		
	Contract Period: 3-17-15 through 3-16-16			(214) 678-0080		
	Buyer: Ruthie Simpkins (214) 653-7437			(469) 227-8386 Fax		
				Steve Yake		
				phughes@pinnaclecoatingsgroup.com		
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21	,22,2	
ITEM NO.	DESCRIPTION:	Est.	Qty.	3,24,26 UNIT PRICE	EXTENI PRICE	DED
165		10	1		2 10	¢26.20
165	Putty Knife Blade: 1-1/2", Stiff, Carbon Steel Handle: Polypropylene or Nylon, Brand: Great American Marketing PT06213) Product No. 7667006213 or approved equal	12	each		52.19	\$26.28
	Manufacturer:			GAM PT06213		
	Product Number:			7667006213		
166	Putty Knife	12	each	S	52.19	\$26.28
	Blade: 1-1/2", Flexible, Carbon Steel					
	dle: Polypropylene or Nylon, Brand: Great American keting PT06214) Product No.7667006214 or approved ll					
	Manufacturer:			GAM PT06214		
	Product Number:			7667006214		
167	Metal Utility Knife 3 Positions, Blade: Retractable, Brand: Hyde) Product No. 42070 or approved equal	12	each	5	\$3.19	\$38.28
	Manufacturer:			Berger/Allway		
	Product Number:			7497292425		
168	Metal Window Scraper	24	each	S	\$1.30	\$31.20
	Blade: 1-1/2", Retractable, Steel, Brand: Allway tools) Product No. 3706407088 or approved equal					
	Manufacturer:			Allway/Berger		
	Product Number:			3706407088/GS1		
169	Painter's Tool - 5 in 1	18	each	S	\$3.59	\$64.62
	Blade: 1-1/2", Carbon Steel					
	Handle: Polypropylene or Nylon, Brand: Great American marketing PT06385) Product No. 7667006385 or approved equal					
	Manufacturer:			GAM PT06385		
	Product Number:			7667006385		
170	Heavy Duty Single Edge Razor Blades	144	boxes	S	\$0.39	\$56.16
	Type: Steel, Brand: Allway/American SEB 100 VP)					
	Product No. 7706407017 or approved equal			100		
l	Specify Quantity Per Box	Page 41	of 43	100		

	YNOPSIS BID NO. 2015-006-6458 Innual Contract for the Purchase of Paint and Related roducts Contract Period: 3-17-15 through 3-16-16 Guyer: Ruthie Simpkins (214) 653-7437			<b>Pinnacle Coatings</b> 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax							
									Steve Yake phughes@pinnaclecoatingsgroup.com		
	Recommended for award			Group 1,2,3,4,6,8,10,13,14,15,16,17,18,1 3,24,26	9,20,21,22,2						
ITEM NO.	DESCRIPTION:	Est.	Qty.	UNIT PRICE		EXTENDED PRICE					
	Manufacturer: Product Number:			Allway/Warner 3706407017 (cost .39 eac)							
171	Heavy Duty Replacement Utility Knife Blades Type: Steel, Brand: Allway/American/Bladesmith) Product No. 3706407009 or approved equal	24	each		\$0.13	\$3.12					
	Specify Quantity Per Box Manufacturer: Product Number:			100 Allway/Warner 3706407009 (cost .13 each)							
172	Knife, flex putty, 1-1/4", Pro-Grip 2 Brand: Great American Marketing PT06212) Product No. 7667006212 or approved equal Manufacturer:	6	each		\$1.45	\$8.70					
	Product Number:			GAM PT 06212 7667006212							
173	Glazing Tool, electrocoated high carbon steel blade nylon handle, 2-in 1, black & silver, Brand Hyde) Product No. 02950 or approved equal	6	each		\$3.49	\$20.94					
	Manufacturer: Product Number:			Berger/Warner/Hyde Hyde 02950							
174	Scraper, flexible, Red Star 4000, 3" red polypropylene handle, high carbon steel blade, Brand: Hyde) Product No. 04350 or approved equal	6	each		\$1.49	\$8.94					
	Manufacturer: Product Number:			GAM 7667005730							
175	Glass Scraper, heavy duty, Brand: Hyde) Product No. 13000 or approved equal	6	each		\$0.98	\$5.88					
	Manufacturer: Product Number: Total - Group 26			Allway/Berger 3706407088/GS1	\$265.74	\$621.84					
	I/We do have the products in stock			Yes							

	SYNOPSIS BID NO. 2015-006-6458 Annual Contract for the Purchase of Paint and Related Products Contract Period: 3-17-15 through 3-16-16 Buyer: Ruthie Simpkins (214) 653-7437			Pinnacle Coatings 616 W. Mockingbird Lane Dallas, Texas 75247 (214) 678-0080 (469) 227-8386 Fax Steve Yake phughes@pinnaclecoatingsgroup.com	
ітем	Recommended for award DESCRIPTION:	Est.	Qty.	Group 1,2,3,4,6,8,10,13,14,15,16,17,18,19,20,21,22,2 3,24,26 UNIT PRICE	EXTENDED
NO.	DESCRIPTION:	Est.	Qiy.		PRICE
	Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity? Note: All purchases by Governmental Entities other than Dallas County will be billed directly to that Governmental Entity and paid by that Government Entity. Dallas County will not be responsible for other Governmental Entity's debt			Yes	
	Specify Prompt/Early Payment Discount Terms (if any)			1 % 10 days	
	Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.			Steve Yake, (214) 678-0080, syake@pinnaclecoatinggroup.com	